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It is satisfactory if we assume it is RnN>9IR7

OVERVIEW

"0 "M rules that a jwpP may glean after his father even if his father is a
sharecropper. The X723 presumes (twice) that we can infer from this ruling
that °"7 maintains that [Rn»7IX71] a VP can acquire objects from pa7 for
himself." For otherwise (meaning that if he cannot acquire for himself but
rather it goes directly to his father) then how can we explain the ruling of >
that the Jup can glean; it is as if the father is gleaning and that is certainly
prohibited. MdoIN explains why we must assume that >3 maintains that a jop
has Xn»7X771 7°27 and we cannot explain his ruling otherwise.

nvoIn asks:
— 9997 19 N9 VP YOI Y2997 D NI NN

It is astounding! From where does the X713 derive that according to "9 a

JvP can ‘acquire’ objects from 77577 (even) according to 779N law?!
— NNIINT JOP HNINND Y0I% %29 920 72997 71702 12

And similarly shortly where the X723 asks; ‘and does >''9 presume that

the findings of a minor belong to the minor Xn>¥1IR7R’; Mmoon concludes his

question on both these N1713 mentioned -
— 9NN VPN 291D DD 193919 NOT KD AN 1939710 NIN NN NNDTI N NI

And why does the X 3 presume this; for perhaps the jup acquires the
X% or the vp? only 33297» and his father does not acquire anything at

all from the jup, and that is why the 79> may glean after the father; but not
because the 0P has 7707 10 727!

NN answers:
— DIYN NNIN DI /9 19D RY RNNDNT 91399 U
And one can say; that presumably >''9 does not argue with the various
N"IWR (which state that whatever a up is 17217 belongs to the father), including these
nywn -
— (1 mwn 1 pa9) 2IY TYYN NIVNT (v 3,0y 97 parvy) 3115!'\ 799N 21",7‘19‘1

' The JuP may glean for he is AP the Xn*>7K vP%. The anon were then Jpnn that this vpP? which the jup
acquired for himself should belong to the father. The original 51 of the vpP? however was for the jvp,
therefore it is permitted since the father is not 7121 the vp? initially.

2 Our mwn here states that the 7X°¥» of a 0P belongs to the father.

? The mwn there teaches that one can be 791 an 217y to all the Mana "2 through his adult children;
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Of our p=p and of 117 paB, and the 71wn of *s1w “Wyn» novxM -
— AN 193 12 T HIIVN INDIAYT (0w 5,70 91 pu2) TAPND P93 SN
Which is brought in ®2pn57 pa5; where according to all these nvawn, the

hand of the son is like the hand of the father, and so therefore we cannot say
that the v is 131277% 71211, and the father is not 71277 from the j0p, for this will contradict all
the N1wn mentioned above.’

MooIN continues to ask:
— %1939 NPYWIY 551 B9IYY N1 ININN ON)

And if you will say; granted that the father is 7217 from his son, but let us

assume that the 0p is w21 17297 only 332977 and not Xn»> 8T -
- 8\7‘,77)3 97 DIYM THIN DIVM 1939 AN 3% 591 AN

And after the jvp is 1727 for himself 312777, his father is 7217 from him

because of ‘enmity’9, and therefore the 0P is permitted to glean, since he is
first 71277 for himself (and not for his father), and the father is 71217 from the v later.

n90IN answers:
— DI INY NPMY NIAD PN 1929907 99D UM

And we can say that there is no logic that the 3129 should institute two
enactments; the first enactment -

however, he may not do so through his minor children since 17°3 77°; there can be no 77°37 to others.

* The nawn there teaches that one can (be sly and) avoid paying the wmn when he redeems his 1w “wy» by
giving the money to his older children and telling them to redeem the w"vn (there is no wmn if someone
else [not the owner] redeems the w"¥n). However he cannot say this to his minor children since 17°3 177;
indicating that whatever they possess belongs to the father.

> We therefore assume that the father is 77 (through the jvp); so if a jup has no 7371 for himself Xn»K77,
he is 7977 the vp> for his father who is an 7"wy. See continuation of moon. See “Thinking it over’ # 1.

® The 0p is 197 for himself because of 27w *377 as the X7n3 shortly states.

7 The father will be angry if the son keeps the 7x*%», despite that the father is supporting him.

¥ When we assumed that the 1op has Xn»XT» 7wo1> 7731 we understood why the father may keep the vp,
for it is a twofold process; first the Jvp is 71217 for himself Xn>1R77 (which is certainly permitted) and then
the father is 797 from the v (when it is no longer vp, which is also permitted). Similarly we can say that
first the Jup is 7191 the VP for himself 1312771 (which is permitted) and then the father is 71237 from the Jvp.
What difference is there if the initial 7°27 of the jop is Xn»7R77 or 1312771?!

% The reasoning that 19 nX*¥n belongs to his father because of 72°X is according to 73 "1 (on the 2 TY),
however 9IXnW maintains that 1°aRY Jop NX¥M because the TP is 1"aR YR 731, Nevertheless N1901N chose
the reason of 72X (for this question). If the reason that Yax? jup NX %7 is because ¥R 7Y ARXINWY YWV
12X, then it is obvious that there is no twofold process (that first the jvp is 7197 and then the father), but
rather when a jvp finds something it immediately belongs to the father since Yax ¥R 7% (we cannot
compare it to a XN™MIRTA VP 7°Ip; see previous footnote # §). However were we to assume the reason of
728, then we can say that 17287 1up NR*¥n is a twofold process 1312777; first the Jvp is 13277% 7937 and then in
order to prevent 72°X, the father is 1P from the jup. So MoOIN asks why must we say that *01 ") maintains
RN™IRTA W2 77 770 MK TP, we can say it is 132771 and the father is 1127 7191 in a twofold process.
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— 9997 2NN NI 72 NN ONP 2N NIV
That the son should first acquire the nX°¥», and afterwards a second

enactment that the father should acquire it from the son; this is not logical,
for why make two Pnypn -
— AND 57979 N2 )20 NI NYWA NIN 129719 IN NN

But rather if the 7°21 of the v (and then its transference to the father) is
J1297% it 1s logical to assume that at the moment of the 3277 n»>7 that is

when the aR:7 n»°o7 takes place -
— Many n¥r9NY ANDIY NN NYWAT BIVYN

Because when the 1vp picks it up, he takes the X7 to rush and bring it to

his father. Therefore the Jup should not be permitted to be 1°ax 71X vPoR since his VP
goes directly to the father if we assume that v n°°271 is only 11277. Therefore since >
rules that a Jup can be 12K IR VPP, we must -

$INYY 5Y TNV ZA2IR DIVN 79390 NOT HIANI NIPININTD DIWIY NOT INT NIN

Rather assume that the j9p is certainly 7127 for himself Xn*>7187% and his
father is 71277» 197 from the VP because of 72°X since the 7vp is
dependent on his father’s support.

SUMMARY

The various N11wn prove that 1°ax 7°3 712 7°. It is logical to assume that if a Jop
1s P only 112771, then included in that 22m nipn is that it belongs
immediately to the father since 1°aR HXX 73>,

THINKING IT OVER

1. MBI maintains that we cannot assume that "0 ' argues on the various
nrawn who agree that ax 73 72 7."° How will then mpoin explain what the
X3 states that % X7°20 XD 7991 AKRP 17°7 RINT XAvL 9XMw (which "wA
interprets that he does not hold that 1°ax> jup nxoxn) 21

' See “Thinking it over’ # 2.

" nooin is now assuming that a Jvp has a 11277 77°07 and that we must assume that 1°ax 7°3 123 7°. Therefore
since there is no &120 that the 1127 made two Mipn that the father should be 71917 from the son, but rather
only one 73PN that the father acquires it immediately. It is therefore obvious that the framework of this 73pn
assumed that the father is 711 right away (only) because that 12X 23X 7% IR°¥MmYw 7ywa. We may have to
assume then that the X120 of 72’ is only if we maintain that Xn> K77 7°wo17 *7 Jup. (See 7™w 0"17n.)

2 mooin again mentions 12°X (see footnote # 8); now that the X7n3 is compelled to assume that a jop is "7
XRNMIRT W12, the reason that the 0on should be jpnn that it belongs to the father is only because of
728, however the reason of 1ax 2¥x 7¥°7n would be insufficient to uproot the Xn»R77 W17 0P PIp.

13 See footnote # 5.

1 See w"wn ,X"w1mn and 1"nR # 64-66.
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2. 110N maintains that there is no X120 that the 7127 should make two mipn
(one that the jvp is 797 and another that the father is 797 from the J0p)."
How will n801n explain the final answer of 72112 1217 1°RW WY; it cannot
mean that the vp is immediately 727 for the father, for that would be
prohibited (since X7 7wy M2R). It must seemingly mean that there is a
twofold process 7112777, which contradicts N1901n assumption here! 16

3. Similarly (as in # 2) we see that according to a1 "1 (if we assume that 513
07°7277n T123) there is no RN*7IXTA WP 7°071 and there is a second DWW 73PN
72K that the 7X°¥7 of a 1728 721 %y 7m0 P belongs to the father!'’

15 See footnote # 10.
16 See n'"m1 and an MIx "1
17 See n"nx # 67-71.
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